Operaciones con Nimeros Senarios (I)

1040504|23

2445
X 536

35204
X 124

24354
X 444

25320412

Calcule cada respuesta.

12343413

500042

1004414|55¢

2100434

11554
X bl

4024
X 43g

51404
X 26

41244|14

21340|44¢

11304
X 32

3022444|32

20514
X 24g

4010554

15154333,

2223134|51¢
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Operaciones con Nimeros Senarios (I) Respuestas

1040504|23
2402

2445
X b3g

232233,

35204
X 124

51040

24354
X 444

205352

25320412
21104

Calcule cada respuesta.

12343413
543

50006|2¢
23004

1004414|55¢
10154

210034
4204

11554
X bl

1051054

4024
X 43g

301304

51404
X 26

143205

41244|14
2314,

21340|44¢
253

11304
X 32
41000

3022444|32
53054

20514
X 24g

541444

4010554
4501,

1515434334
3123,

2223134|51¢
2443
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